LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

1
Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-s0
1 380020070-0001 bont M6x16 4 6 120080288-0001 lonoBKa uMAMHApPa 1
2 120230083-0001 KpblwWwKa KnanaHoB 1 7 120150086-0001 MpoKnagKa ronoBkU UMAMHAPA 1
3 120250032-0001 MpoKnaaKa KpbILWKKX KNanaHoB 1 8 380600117-0001 WtnoT 10x14 2
4 F7RTC Cseya 3aXkuraHuma 1 9 380180124-0001 Wnnnbka M6x91 2
5 380180101-0001 LWnunbka M6x95 2 10 | 380140339-0001 Bont M8x50 4




LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

Ne ApTURYN HanmeHoBaHue K-Bo Ne ApTURYN HanmeHoBaHue K-80
1 110810149-0001 Kaptep 1 11 | 380140441-0001 bont M6x14 3
2 160200032-0001 KpoHwTenH 1 12 | 380821590-0001 LWarba 1
3 380140013-0005 Bont M6x16 2 13 | 380740521-0001 LWnaHr canyHa 1
4 380850002-0001 Wnunbka M6x78 1 14 | 380140067-0003 Bont M6x12 1
5 380850006-0001 LWnunbka M6x85 2 15 | 160200033-0001 KpoHwTeinH 1
6 380650335-0001 CanbHuK 25x38x7 1 16 | 171630010-0001 Ban perynatopa obopoTos 1
7 140250006-0001 KnanaH canyHa 1 17 | 380450527-0001 LWaiba 1
8 380140037-0003 Bbont M6x10 1 18 | 60360080000 CanbHuk Bana 6x11x4 1
9 110850010-0001 MpoKnaaKa KpbILWKK canyHa 1 19 | 381350004-0001 WnanHt 1
10 110840010-0001 KpblwWwKa canyHa 1 20




LramMpPIoN
Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 110820038-0001 | KpbiwkKa KapTepa 1 8 150570002-0001 MacnooTpaxartesnb 1
2 380450514-0001 | LWainba 10x16x1,5 1 9 380140077-0005 Bont M6x20 1
3 110260025-0001 | bonT M10x15 1 10 174280001-0001 LleHTpo6eXHbIii perynatop 1
o6opoTos
4 110690016-0002 | FopnoBuHa macno3annBHas 1 11 380600121-0001 WtnoT 8x10 2
KOMMNJIEKT
5 380140100-0003 | bBonT M6X35 1 12 380650347-0001 CanbHUK KoneHsana 25x41,25x6 1
/DAC010

6 110830053-0001 | Mpoknaaka KpbIWKK KapTepa 1 13 380140024-0006 bont M6x28 7
7 380600120-0001 | WTndT 8x14 2 14




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-80
1 TW00040008 MopweHb 65x46 KOMNEKT 1 6 130290251-0001 KoneHsan 1
2 130070085-0001 KomnneKr Koneuy, 65x1,5 1 7 521010010501 MNoawunnHmk 6205 1
3 380560055-0001 CTonopHoe Ko/bLo 2 8 380620050-0001 LLInoHKa maxoBwuKa 4x5,5x12 1
4 130060030-0001 Manew nopwHa 1 9 380620030-0001 LLInoHKa KoneHBana 4,78x4,78x38 1
5 130150051-0001 WaTyH 1 10 | 380450518-0001 LWatba 25,4x34x1,0 1




LramMpPIoN

Power & force

MI'IJTI-OCTpMpOBaHHbIH KaTanor 3anacHbIX YacTew

Mogenb: G160VK

No ApTukyn HanmeHoBaHue K-Bo No ApTukyn HanmeHoBaHue K-80
1 140020058-0001 Pacnpeaan 1 6 140380020-0001 | Cyxapb KnanaHa 2
2 140690002-0001 Tapenika TonKaTena KnanaHa 2 7 140340022-0001 Mpy*KMHa KnanaHa 2
3 140670028-0001 Tonkatenb (WTaHra) KnanaHa 2 8 500550034-0001 KomnneKr knanaHos 2
4 140710013-0002 Hanpasnstolas Tonkatenen 1 9 380450534-0001 LLlan6a pacnpeagana 1
5 140450022-0001 Kopombicno komnnekr 2

/DAF004




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

No ApTukyn HanmeHoBaHue K-Bo No ApTukyn HanmeHoBaHue K-80
1 380370066-0001 lalika M6 3 7 160180015-0001 Kpblab4yaTKa MmaxoBuKa 1
2 380200008-0005 BuHT M4x10 3 8 270020126-0001 | MaxoBuK 1
3 193690003-0001 KpblwKa gsuratens 1 9 DN01D000 MarHeTo ¢ Ko/inaykom 1
4 193490248-0001 CrapTep B cbope 1 10 270950072-0001 Konnayok cBeuu 3axkuraHusa 1
5 380370051-0001 Favika M14 1 11 | 380140086-0002 | BonT M6x22 1
6 DAJOO1 CTakaH maxoBuKa 1




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTasor 3anacHbIX YacTen

Mogenb: G160VK

Ne ApTUKYA HavmeHoBaHwue K-Bo Ne ApTUKYA HavmeHoBsaHue K-s0
1 170430057-0001 MpoKnagka nog TennoM3onaTop 1 5 170020451-0002 Kap6topartop 1
2 170440055-0001 TennousonsaTtop KapbopaTopa 1 6 380840455-0001 YnnoTHUTENbHOE KOJIbL,O 1
3 170430046-0001 MpoknazKa nog KapbropaTop 2 7 DAB0O03 Mpoknagka nog Kopnyc ¢punbTpa 1
4 170450001-0001 Oxnaxgatowmin uct 1




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

X

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-so
1 180280052-0001 Kopnyc ¢punbTpa 1 4 DQO0P027 Kpbiwka ¢punbrpa 1
2 180130178-0001 DunbTP BO34YLWHbIA OCHOBHOM 1 5 180020597-0001 Kopnyc ¢punbrpa KOmnnekr 1

/DQO1P025 /DQ02Q001
3 180130157-0001 PunbTp NpeaBapUTENbHbBIN 1 6 380370066-0001 laika M6 2
/DQP025




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTanor 3anacHbIX YacTew

Mogenb: G160VK

Ne ApTUKYN HaumeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-so
1 171650004-0001 TAra 3acnoHku 1 7 380250002-0001 bont M6x21 1
2 171610003-0001 Mpy»KMHa TAMM pblyara 1 8 171620015-0001 Pbiyar perynatopa 1
3 171590018-0001 TAra pblyara perynatopa 1 9 380370048-0001 laiika M6 1
4 171680039-0001 Mnowaaka poelyara gpoccens 1 10 | 271660026-0001 BbIKNto4aTeNb 3aXKMraHua 1
5 171600018-0001 Mpy*KnHa pblyara 1 11 | 380200008-0005 BuHT M4x10 1
6 380140067-0003 Bont M6x12 2




Power & force

LramMpPIoN
Vll'l.l'llOCTpMpOBaHHbllz KaTa/ior 3anacHbIX YacTen

Mogenb: G160VK

Ne ApTUKYA HavmeHosaHue K-Bo Ne ApTUKYA HavmeHoBaHue K-so
1 380370048-0001 laiika M6 2 3 180571313-0001 Fnywuntens 1
1 4 180660065-0001 Mpoknaaka raywutens 1

2 180960026-0001 Koxyx rnywmrena




LramMpPIoN

Power & force

MﬂﬂlOCTpMpOBaHHbII‘a KaTasor 3anacHbIX YacTen

Mogenb: G160VK

-

4 6
Ne ApTUKYN HanmeHoBaHue K-s8o Ne ApTUKYN HavmeHoBaHune K-80
1 170490149-0001 bak TonnnBHbIN 1 6 380850003-0001 LWnnnbka M6x60 1
2 170870094-0001 KpbiwkKa TonaneHoro 6aka 1 7 380950190-0001 XomyT WwiaHra 2
3 380450444-0002 LWariba 1 8 170010017-0001 TonnusHbIN GUALTP 1
4 380370048-0001 Faiika M6 1 9 380750234-0001 LLnaHr TONAMBHbIN 1
5 380140013-0005 Bont M6x16 10 | 380930025-0001 Knunca 1




